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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
R 2ICARR Teq i |

(a) Mention one need for studying
economics.

QAREF AT GG1 A ATl S F41 |

(b) Define market economy.

TGR NANGT Hez 7 |
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(c) What is elastic demand?

Rfew-= wfzwm 2

(d) Draw the perfectly inelastic supply curve.
Toopf SRRACZIMF @omm @4rere wEa 101

(e) Define an inferior good.

52 AT itz o o

(/ What is income consumption curve?
o Beiceiel @31 62

(g) Distinguish between short run and long

run with the help of fixed and wvariable
costs.

fr oF ARSI IR 4RI WS 3530
1% NI N ey

(h) What is producer’s surplus?
Teo T9a 2

() “Supply curve is not relevant for
monopoly.” Why?

< qFrelDM ITRS @9 QAR AFBTel FR 1
a9
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() Why is the average fixed cost curve
rectangular hyperbola?

TC &7 I @roE [y wmen o[RS W2

2. Answer the following questions briefly : 2x5=10
TR AR 5 T=R fram

(a) Distinguish between positive economics
and normative economics.

Ffaifefes wLAfe oo Afsfcfas vt TS
N Aefa %21 |

(b) State two exceptions of the law of
demand.

oifEm ffacor wo1 e Saw w4

(c) Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

‘FIRR ARSI PIfEmR AREIR oReEq’
TS A1LF; Acfa T4 1

(d) Prove that two indifference curves do not
intersect each other.

oA T @A [OE FRerE @R IR F(A
TR |
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(e) Why is the long-run average cost curve
‘U’ shaped?

TefFram ot I @<EE ‘U Sefer g w9

3. Answer any four of the following questions :
5x4=20

TR AR R (I BIROR $E] A

(a) What is budget line? Why does the
budget line slope downwards?

CEB @Y T2 I @ ;T =TE @EamE
L

(b) Distinguish between normal goods,
substitute goods and complementary
goods.

—

TE(4® FRE, 2o% Tl TF 4E4FE ARAR
o &
) L= ""ﬁﬁ‘?-f i'a"'.‘"‘: << 1

(c) What is monopoly? Explain why the
marginal revenue curve of a monopoly
lies below its average revenue curve.

GFLA IR A@ a1 | @wmooa ameE aifes
A @4 [ TT TW @4R AT Waer 9,
< T4
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(d) Explain the behaviour of profit
maximizing firms with the help of
marginal revenue and marginal cost
approach.

'g'rﬁasv O HE ﬁrﬁasu (4 4149 AZRS &S
AETS 41 AfCBE a9 U <641 |

(e) Explain that substitution effect is always
negative.
[T 3 @ AfeTw [ T Aergs |

() Derive demand curve for a Giffen good.

feces TR BIEW G4 @FCIE TZAT T4 7,
== 1

4. Answer the following questions : 10x4=40
T AAEa Taa e
(a) Explain how the price system allocates
resources. 10
4 AETT (@A T WEAGA w4, A

<4 |
Or / 9471

What are the main problems of an
economy? How does a free economy solve

them? 3+7=10
Ttz 7 womar e fer g% wdafoe

2TCT3 2 FAANZATA (S04 AL F74 7
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(b) What is price elasticity of demand? What
are its determinants? Discuss. 3+7=10

siftne v Rz 57 TR ez @
& 2 =CE™a F41 |

Or / 9q1

Explain the concept of marginal rate of
substitution with the help of diagram.
Why does marginal rate of substitution
diminish? 6+4=10
foaa ame ofes 2fSTse Ta qREET AT

341 | Afes 2AfSTaa 21 o1 TEpEE =12

(c) Explain the determination of wages
under competitive labour market. 10

Ao a[ ITRe TgqR R afEm
T 4

Or / |1

Derive input demand curves. Discuss the
factors responsible for shift in input
demand curves. 6+4=10

ToAMER I (AR eAfE I 1 TAMER
FIdM (A FEIBRS (AR PRIFIR S
41 |
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(d) What is price rationing? Analyze the
impact of price rationing on the market.
2+8=10

% TS 7 TR Pereeard IV 8RS T
1 S fReeTss 2 |

Or / 9€1

Discuss the factors responsible for shift
in the demand and supply curves. S5+5=10

TIfEM W @A @4 FEBRO (AR SAMTIR
AT 247 |
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